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Direction: Study the following
information and answer the
questions that follow.

There are eight people sitting
around a circular table facing
inwards. There is one person
between A and B either from the left
or right. B is third to the left of the
C. D is to the immediate right of C.
The number of people sitting
between D and A is equal to the
number of people sitting between E
and D. F is not an immediate
neighbour of E. G is second to the
left of F. There is one person
between G and H.

1. There are as many people
between H (when we count from the

left) and as many as
between B (when counted from the
left) and G.

A. F

B. A

C.C

D.D

E.G

2.How many such pairs of letters
are there in the word ‘Objects’ each
of which has as many letters
between them in the word as in the
English alphabet (Both forward and
backward)?

A
B.
C.
D
E

ZAWNH

one
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Direction: Study the following data
carefully and answer the questions
accordingly.

WIG PAT FOR SET RUB

3. How many meaningful words of
five letters can be formed using the
third letter of each of the given
words?
A. Two
B. One
C. Five
D. Four
E. None

4.If all the words are arranged
according to the alphabetical order
from the left to the right then which
of the following words will be third
from the right?

A. FOR

B. RUB

C. SET

D. PAT

E. None of these

Direction: Study the following
information and answer the
questions that follow.

There are eight friends sitting in a
straight line facing north direction.
A sits fourth from the left of the line.
There is one person between A and
H. C sits to the immediate right of
H. More than three people are
sitting between C and E. G sits to
the immediate left of E. There is one
person between G and B. D sits at
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one of the positions to the right of
F. C and D are not immediate
neighbours.

. Find the odd one out.

.CB

.DE

.BF

.AD

.FC

moOoO®>u

6.How many people are sitting to
the left of C?

monOw»
ZAWN R

one

Direction: Study the following
information and answer the given
questions.

Evelyn starts walking from point Z
towards the north. After walking 4
metres, she reaches point A. From
point A, she starts moving towards
the east and covers 6 meters to
reach point B. From point B, she
moves towards the north and
covered 4 metres to finally reach
point D. Point C is midway between
A and B.

7. Point C is in which direction with
respect to point A?

A. North - West

[@Byus

8.What is the distance between
point C and point D?

A. 8m

B. 3m

C.4m

D. 5m

E. None of these

Direction: In the following
questions assuming the given
statement to be true, find which of

the conclusion(s) among given
conclusions is/are definitely true
and then give vyour answers
accordingly.

9.S=H<O<R=T

A.H>R

B.O=T

C.S>T

DH>T

E. None of the above.

10.How many meaningful words
can be formed using the 1st, 3rd,
5th and 11th letters of the word
INHERITANCE using each letter only
one in the word?

moowp
ZNWNER

B. East Direction: In the following

C. West questions, some statements and

D. South conclusions are given. Considering

E. North all the statements to be true, decide
- f' Complete Course .
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the conclusions which logically
follow. Study the data carefully and
answer the questions accordingly.
11. Statement:

A) All Fountains are Cone.

B) Only a few Den is Cone.

C) No Salt is Den.

Conclusion:

A) All Fountain can never be Den.
B) Some Cone is definitely not Salt.
A. If only conclusion I follows

B. If only conclusion II follows.

C. If either conclusion I or II follows.

D. If neither conclusion I nor II
follows.
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E. If both conclusions I and 1II
follow.

Direction: In the following
questions, some statements and
conclusions are given. Considering
all the statements to be true, decide
the conclusions which logically
follow. Study the data carefully and
answer the questions accordingly.
12.

Statements:

A) No River is a Sea.

B) No Cloud is Sea.

Conclusion:

A) No Cloud is River.

B) At least some Cloud are River.
A. If only conclusion I follows

B. If only conclusion II follows.

C. If either conclusion I or II follows.
D. If neither conclusion I nor II
follows.

E. If both conclusions I and II
follow.
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ANSWERS
1. Ans. D. After rearrangement - FOR PAT
RUB SET WIG
E 5. Ans. C.
G H There is only one person between
them, except for option c.
B 5 FHCABDGLE
6. Ans. B.
F C
A
FHCABUDGLE
2. Ans. B.
OBJECTS 7. Ans. B.
1521053 20 19
D
3. Ans. E.
A 4m
WIG PAT FOR SET RUB ] m
3m B
Third letter of each word - G, T, R, C
Meaningful words — None V4
Therefore, option E is the correct 8. Ans. D.
answer.
4. Ans. B.
WIG PAT FOR SET RUB
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1 03220220
dm If we have no direct relation given
A | m element, and in both conclusion
3m elements are same with some and
c B no. Then, always "either, or" will
am @ follow
Y
9. Ans. E.
None of the conclusion follows.
10. Ans. B.
The 1st, 3rd, 5th and 11th letters of
the word INHERITANCE are I, H, R
and E.
HEIR, HIRE
Thus, 2 four letter meaningful
words can be formed.
11. Ans. B.
12. Ans. C.
v SBI Clerk 2022 SR
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